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. In Section-A,

[210)
5. This question booklet is divided int,
two sections — Section-A ang

~ Section-B.

_there are
100 objective type questions, out
of which any 50 gquestions

‘are to be answered. First
50 answers will be evaluated in
case more than 50 guestions are
answered. Each queétion carries
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct o})tion '
on OMR Answer sheet- provided to

Yyou. Do not use whitener / liquid

/ blade / nail ete. on OMR-sheet,
otherwise the result will be
treated invalid.

In Section-B, there are 30 short
answer .type questions, out of
which any 15 questions are to be
answered. Each question carries
2 marks. Apart from these; there .
are 8 ‘ type
of which any

long answer
questions, out

4 questions are to be answered,

- Each question carries 5 marks.

Use of any electronic appliances is

strietly prohibited,
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'@Ug - 3T / SECTION - A

TS w9 / Objective Type Questions

gy wEr 18 lobW%m%‘WWﬁv’mﬁ{VW?‘ﬁWﬁ#WWﬁ?I
firft 50 Pt & Fav e ERT 97 TC W@ fwer @t OMR ¥z ¥ Ferfead
#il | 50 x 1 =50
Question Nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet. | 50 x1=50
1. sinchotGW%ﬁq'ﬂT%? |
(A) tan® . | .(B) | cos 0
AC) secO : (D) cosecO
What is the reciprocal of sin 0 x cot0?
(A) tan© | (B) cos 0.
(C) secHb - | (D) . cosec ©
2. - cot 12° . cot 38° . cot 52°.. cot 60° . cot 78° = |
A1 . ® B
© —-= D) 3
)
3. cosec ( 90°-0) . cos -( 90°-0) =
(A) sec l (B)‘ tan 0

J{) sin 0 (D) cof 0

H/S-24(M)/72041-(so/80)
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Tie si110=\’§cosﬂ T sec 0 51 OF @
@ L 3
S Sl 5
© 8 :
. D) —+=
3 (D) Na

If sine=,2 cos0 then the value of sec 0 is

=

‘/g (B) ‘6
© 3 o % ‘
Stan- 60°=
NEVE ‘(B) 1
© o =
D) 3

M A, B, e Bnw ABC S Sw i At cosec(A;B) 1 HM R

@ n £ B) sec g
(C) cot -g— (D)  sin %

If A, B, C are angles of a triangle ABC, then the-value of

cosec ciivZ) is
2

(A) tan % B) sec %
(C) cot % (D) sin %

[H/S-24(M)/7204 1-(80/80)
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afe fordt g 6 B o TF B ST A O T T R S &l 1 g

B
A) 1:k _/m)' 2:k°
C) 1:k? .-k(D) K21

If the radius of a circle becomes k times then the ratio of the areas

of previousand new circles is

(A) 1:k | B) 2:k°
© K D) k%1
i P a1 a1 R o T e A 2

(A) nk B) (n+l)k

_V(Q)”"mzk D) (n+2)k’

~ What is the total periﬁmter of a semicircle whose rjadius isk?
(A) wk ‘ (B) (n+l)k
el w2k D) (n+2)k |
o ey 4o v < 3 e 35 g B 90 2
| (A) 264 Gl - (B) 132 &

() 84 @l (D) Eﬁﬁ@i?ﬁ

H/S-24(M)/72041—(80130)| . Page 50f48




B e 12
ey The distance covered by a wheel of dlameter 42 cm in 2 revoluthn:

is

(A) 264 cm ’» (B) 132cm
.(C) 84 cm ' k (D) none of these |
~10. Eﬂ?ﬁﬁﬁmﬁﬁwsﬁrﬁ%mﬁwﬁ%mA B, C@Dw%w—g@%%
ABCDEHﬁ%aiaﬁABCDWW@W
(A) 64@Tﬁ2 _ | (B) ‘100@1112..
() 125ﬁrﬁ2. D) ‘128 a2

A, B, C and D are four pomts on the c1rcumference of a circle of

4radJus 8 cm such that ABCD is a square. Then the area of square

ABCDis
(A) 64 cm? - (B) 100 cm?
(C) 125cm? (D) 128 cm?

11. s%sremmagmﬁ?ﬂmw%
(A} - 25 " | .(B) - 20
L) 307, | (D) 35
The mean of first seven multiples 6f 5 1s
“(A) 25 - (B) 20

() 30 | (D) 35

[H/S-24(M) /72041 -(50/a0 Page 6 of 48
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20,13,\0.25.6.\5,9\.0,1n,ﬂ,qutmnnﬁuqﬂn

(A) 18 B3) 16
) 6 M) 15
The median of 20, 13, 18, 25, 6, 15, 21,9, 10, 8, 22 1y
A) 18 B) 106
€ © D) 15

23, 18, 25, 40, 27, 25, 22, 25, 20 I TETH 5 4

A) 23 uB) 25

) 22 (D) 15

The mode of 23, 15, 25, 40, 27, 25, 22, 25, 20 is

(A) 23 (B) 25

Cc) 22 | (D) 15

T SO S ) TR 40 T WA 38-2 2 A FEH! wgeTh B
(A) | 43 , (B) 436 |

(C) 42 (D) W ¥ T

The median of a frequency distribution is 40 and mean is 38-2.

Then its modec is
(A) 43 (B) 436

(C) 42 (D) nonc of these

H/S-24(M)/72041-(00/00)| Page 7 of 48
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17.

‘ L2y
X, X+ 3, 45, x4 7 v 10 TF 92 A F A AW
A) 4 B 6
€ 5 D) 7

If the mean of x,'x +3,x+5, x+7and x+ 10 is’9 then the value 0
X1is

(A) 4 | @B 6

€ s ' (D) 7
| TRrRen & AT 99 g 2 -
@ o N S|
X 2 . D) T} B 7
The minimum value of a probability is
(A) 6 - B) 1
© 2 (D)  none of these

WEWWA%@Y@HWO-SS%@A%'WW@WW
e

" (A) 0-53° Y " (B) 65

€ 065 D 35

If the brobability of occurrence of an event A is 0-35 then the

probability of non-occurrence of A is
(A) 0-53 : (B) 65

© o065 (D) 35 -

H/S-24(M)/72041-(80/80), Page 8 of 48
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c 8& - (D) 6

In tossing of three coins the number of posSiblc outcomes is

@ 3 B 4
(c) 8 , (D).. 6

19. ﬁw%ﬁaﬁﬁaﬂq—mﬁwﬁﬂﬁmﬁmﬁwﬁﬁm%?

4& 05 _ Ry B 19
| £t el - lneil 3
C) 80% o 2

Which of the following numbers cannot be the probability of an

event ?-
A) 05 B 19
© 8% - D) %
20. @mﬁﬁ@ﬁﬁﬁsmsﬁmmm@ﬁﬁmﬁm%
\ 1 1
A 3 B) 5
5 1
€ 5 D) 3

[H/S-24(M) /72041-(80/80)] Page 9 of 48
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22.

[21g
In a throw of one die the probability of occurrence’of a number 5%

less than Sis

w g NI

(C)

o

| G |
ﬁwﬁm%aﬁwﬁmwﬂﬁwwm: a, b, c & A G HT IRy
R

A)  abc - | (B) 2 abc
(C)  Jabe (D) 3Jabe

If the areas of three adjacent faces ' of a cuboid are a, b, c

respectively, then the volume of the cub01d is .

A)  abe '(B) 2 abc

(C) JTC 3 : (D) 3s/_b_c.
@mwwmmmw ?ﬁm?mm%
(A) 144 g3 (B) 196 &3

(© 2123 - D) 2163

The total surface area of a cube is 216 cm 2 thén its volume is

(A) 144 cm® ~ (B)" 196cm?®
€ 212cm?® ' (D) 216 cm?
H/S-24(M)/72041-(80/8ﬂ, Page 10 of 48‘ |
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5 TH % A w1 64 8 Al T Hupl Y A% H T
7

(A) 1:4 B) 1:16

(Cc) 1:18 D) 1:8

The ratio of volumes of two cubes is 1 : 64, The ratio of their total

surface area is
(A) 1:4 B) 1:16
(cy 1:18 | (D) 1:8

. ~ - b
=51 B % A9 A

A 1:42 B) 42 :1
c; 1:2 . ' D) 1:4

Two circular cylinders of equal volume have their heights in the )

ratio 1 ¢ 2 The ratio of their radii is

(B) 1:42 : B J2:1

c) 1:2 :(D) '1‘:4
wéaamamﬁﬂéaamwaoﬁQqésﬁmmﬁmzsﬁ%
() 105 By 154

(é) 20 Tl (D) 40@Hd

H/S-24(M)/72041-(s0/80) Page 11 of 48
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. 2 :
If the curved surface area of a cylinder'is 1760 cm” and its be,

diameter is 28 cm then its height is

(A)

10cm (B) 15cm
(C) 20cm (D) 40cm
e 7% 0 3 = RHT&QHﬁAAOB=0€TWABﬁm3ﬁ
W = B =2
© =R zR%
180 D) 360
If Ois the ceﬁwe and R s the radius of a circle and ZAOB = 0 then

the length of arc ABis

2=R5 . 2=R0
Ay  =E3Y S
(8) 180 (B) 360
© =R?p O =R%0

180 ) 360

== hd o P o WO = f'- - N N IS "
<ic =41 33 = 1a9s 4905 [ a9l 3R S 5] ral al D &l ?-W\Uf L

SZ2wT m
(A) =r=+r (B) =r -Hzr_2
(C) =r +r? (D) =wrl +2r°

If I is slant height of a cone and ris the radius of its base then total

surface area of cone is

(A) =rl +r B) =rl +rrl

(C) =rl <12

(D) =l +2r

H/S-24(M)/7204 1-(s0/80)

Page 12 of 48




'_ (210 ]
28. awﬁ?ﬁ%amaﬂmaﬂmﬁms:m%ﬁrmqmmcﬁmlm

Al
(A) 9:25 B) 25:9
C) 5:3 D) 3:5

The ratio of volumes of two spheres is 125 27 then the ratio of its

'surface areas is
(A) 9:25 - . (B) 25:9
Cc 5:3 - D) 3:5
20. g rft firsan & et 1 foErETRt T 32%@@%3’@%@:&6@3@
%l&i@%maﬂﬁﬁw% ' ‘
g 8 | @ o
) 1o@dH | (D) 12 af

A sphere of radius 8 cm is melted to form a cone of -height 32 cm.

The radius of base of the cone is
(A) g em & (B) 9cm
(c) 10cm (D) 12cm
30. aﬁ:rhém!{mmawﬁrw 2 @ T H = B
(a) 78 @) 14@d

(c) 28@H (D) 56 @l

H/S-24(M)/72041-(80/80| Page 13 of 48
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32.

| [ 21
If the surface area of a spherc is 616 cm? then the diameter(
sphere s
(A) 7 cm (B) 14%cm
(€  28cm (D) 56 cm

el 9 ¥ ¥ 3 8%?&%%%{?1@?{@3%%??!%3@%

]

(&) a@d (B) s
(C)  10% D) 8%

The perpendicular distance from the centre of a circle to a chord of
length 8 cm is 3 cm. Then the radius of the circle is

(A)  4cm (B)’ Scm
(C) 10 cm - ’ : (D)
A% & g9 sivErd 0 E @ st o -Yars 6 ven g
w1 Bf 2
(C) 3 . (D) 4

If two circles touch each other internally then the number of

common tangents is
(A) 1 (B) 2

() 3 (D) 4

H/S-24(M)/72041-(s0/s0 - Page 14 of 48




“ 33. ﬂﬁ%@qﬁﬁsﬁmﬁmﬁ‘{ﬂzﬁﬁw%w@?ﬁsﬁmmﬁm

J

34.

35.

[210 |

ST T ShivT B
(A) - 90° (B) 60°
C 30° By 120°

If the length of any chord of a circle is equal to the radius of the
circle then the angle subtended by the chord at the centre is

() 90° _ (B) 60°
prrommﬁﬁfﬁ@-qaﬁawm‘o%m@%ﬁﬂéﬂ
m&@ﬁwmﬁﬁzmo=1zo°?ﬁzoﬁmm—@m

(C) 30° . (D) 1zd°

(A) 40° | (B) 30°
(C) 50° o (D) .60°

TP and TQ are two"tangents drawn frorn an external point T to a

circle whose centre is O such that ZPOQ = 120°. Theh' the value of

£OTPis
(A) 40° | (B) 30°
(€) 50° (D) 60°

| e tan2A=co£(A—18°) iﬂﬁ.QA:agIﬂ?m%'cﬁ A AHE B

(A) 72° (B) - 36°

ey 60° _,(ID) 45°

'H/S-24(M) /72941-(so/aoj|- Page 15 of 48
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37.

38.

[21g

If tan2A=cot(A—18°) where 2A is an acute angle, then the V'ahg

of Ais
(A) 720 (B) 36°
(C)  60° (D) 45°
afg sinO:@, 6 <90°d tan?0-1 =
52 A U B) 0
€ 2 . D) -1
If sinezg, 0 < 90° then tan29-1 =
a) 1 B) 0
) 2 . . D) -1
9 cosec? 22°—-9cot? 22°41 =
A) 9 | (B) 10
() é D o
Ife sine:%?ﬁ cos O T M &
b? _ g2
b : B y
N7 To7 (B) b
b
a (D -
© = B3

H/S-24(M)/72041-(s0/s0
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If Sin9=% then the value Qf cos 0 is

: b2 _ g2
@
‘ b
(C) a D) =
b —a’ a
39 It SCCG:J‘—B-_(ﬁ cot O =
12 .
5 | 5
(A) 12 (B). i3
L 12 Hy 13
< F hy O T
_13 X _
If SCC9—12 then cot '6
@ 13 . B 13
12 13
€ = D) =
40. (secO+tand) (L-sin0)=
(A) sin® (B) cos0
(C) sech (D) ~ cosec®
, 41 af 3x+4y=10T 2x-2y =2 g
f
F (A x=2,y=1 B x=1,y=2
© x=-lLy=-2 D) x=3,y=1

H/S-24(M)/72041-80/80) Page 17 of 48
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If 3 - :
Xty =10 and 2x- 2y = 2 then '10
(A) e
X=2,y=1 B) x=1,y=2
(C) X =
Ly=—-o D) x=3,y=1
Htﬁwwzgq ~x+~y 7 T 9x- 10y = 14
B)  sfreg
JB) ferieft
c RS
) g D) ¥ & 9 75
The pair of linear €quations 7X*+3Y=7 and 9x 10y = 14 is
X . .
(A) consistent (B) inconsistent
(€ dependent | (D) none of these
W‘esrmzx+3y+15 oqasx zy;.lzéo%mvaﬁmmaﬁ.
ir@'rqaﬁTﬁ PN ' |

(A) Hmeﬁw%@rq‘

@ SBATAE 0w

"The graphs of the equations 2x +3y+15=0 an

d 3x - 2y-12 = 0
are which type of stralght lines ? : N

(A) Coincident straight lines
(B)  Parallel straight lines
(C) " Intersecting straight lines

(D)  None of these

H/S-24(M)/72041-(80/80), Page 18 of 48
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44, GHHT 6™ 2x - 3y = 57 4x—6y=THEAR |
(A) IMFE T (B DiemTE
© T D) A
The system of linear equations 2x— 3y=>5and 4x-6y= 7 has
(A)  onc and only one salution
(B) no solution
(C) = infinitely many solutions

(D) none of these

45, TR O W@ 4x + py = 16 W0 0x + Oy = 15 WHIG & @l p

I P

HE

@ 3 ®. 3
© 18 D) -3

If straight lines 4x + pyY = 16 and 2x + 9y = 15 are parallel then

what is the value of p?

(A) % B) 3

(c) - 18 (D) -3

46. ﬁmiﬁﬁﬁﬁﬁwm%ﬁ%?

-5 -2 -1
Ml 4-1-i43 3%) (B) —1) 6! 3! 2;
Cc) 8 14, 20, 26, ... (D) 4,10, 15, 20, ...

H/S-24(M)/72041-(s0/80) Page 19 of 48
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. . | 210
hich of the following is not an AP, 2
W) 5,41, 01 =5, -2
> TR 4, Y e - e
2035 B -l =53
(C)

(D) 4,10, 15, 20, ..
s 0 S

A) 3 :

< A 4

(C) 1 (D) 5

If $2x- 1), 7, 3x are in A.P., then what is the value of x ?

A 3 B) 4

€ 1 _} D) s

I a, wHw 4 s, 12,19, . Fnaiwiq a40—a55§ﬂqﬁw
BT 7 T | |
A) 20 B) 35

(C) 30 - D) 55

If a_is n-th term of the A.P. 5,12, 19, ... then what ig the value of

a4o - a35 e
A 20 | ~ (B) 35
© 30 | (D) 55

H/S-24(M)/72041-(80/80)’ ‘ "Page 20 of 48
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49. ﬁm%ﬁ?ﬁm4%@maﬁm-4%aﬁmgwww

50.

2m ?
A) 16 | (B) 20
(C) 24 (D) 28

If the 7th term of an A.P. is 4 and its comrn;m difference is — 4,

'_chen what is its first term ?

(A) 16 . B) 20

(C) 24 ' (D) 28

Ffe a9 & FUH n.ﬂ?ﬁﬂtﬁﬂmn%zn)%.a“rwiﬂiaé‘rwqﬁ

3T g
(A) 6 (B) 14
Cc) 8 (D) 4

n terms of an A.P. is (4n? +2n) then the common

If the sum of first

difference of A.P. is

A) 6 B) 14

‘c) 8 (D) 4
51. ﬁ:g'aﬁA(-Q,S)QEiB(—6,—4)ﬁfﬁﬁﬁﬂﬁﬁi’@1@€%qwﬁ§%
s (-6-4) B (-42)

(C) (2,6) (D) (-4,-6)

[H/S-24(M)/ 7204 1-(80/80)| Page 21 of 48
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33.

o54.

iR

The mid-point of the jine segment joining the points A (- 2, 8[ )2;2;
B(-6,-4)is e | |

(A) ~(~6,-4_) B (-4,2)

© (2,6 D (-4-6)
q&%@(1,2),(Q,0).qé(a,b)¢&@‘s°f,ﬁ‘l

A a=p B) a=2b

(C) 2q=p ° D) atb=0

- If the points ( 1,2)',‘(0,0)and(a,b)are collinear then

(&)  a=p B a=25

€ 2a=p (D) 'a%b=o
%{ﬂﬁ‘gaABc%asﬁﬁA(z 3)62113(1—3)%@%(3,0)%
?ﬁ?ﬁﬂhﬁécmﬁﬂmé

&) (5,2) (B) (13)

@ (50 D) (2,-3)

Two vertices of a triangle ABC are A (2,3

)andB( 1, - 3) and
centroid is (

3, 0) then the co-ordinates of third vertex C are

A)  (5,2) B) (1,3)

| D) (2,-3)
AABC # AD, /BAC 1 3% 3| af2

BD =2 &t & @l DC %1 oH gm

(C) (6,0)

AB=4ﬁIﬁ,AC#6WHWT

(A) 3 gl (B)
© 7%h

6 qet -
D) 4 3wh

H/S-24(M)/72041-(ao/30) e

Page 22 of 48




[210]

In AABC, AD is bisector of ZBAC. If AB = 4 cm, AC = 6 cm and

BD = 2 cm then the value of DC is

(A) 3cm "~ (B) 6cm
(C) 7cm : (D) 4cm
55. ABC ¥ ‘ AD__2 AL

fo ABCH DE || BCW SR 1% pp=3—3 T £ " 3x-19
XxHAAR .
/(A), 9 (B) 10
@ 11 D) 12

4 __,AE__ 8

] ~ AD
Int 1 B =
f1ange ABC, DE || BC such that DB - x-4 _and EC - 3x-10

then the value of x is

A) 9 B) 10

D) 12
_ 10 3ft a1 AC=5 &t @ ZCH UM 8

© 11
‘sg. ufy AABCH AB= 13, BC

(A) 90° | @ 30°

(@) 60° (D) 45°

If in AABC, AB = 18 cm, BC= 12 cm'and AC = 5 cm then the value
of £Cis |

A) 90° (B) 30°

(Cc) 60° (D) 45°

]ﬁ/s-24(M)/72041-m:o/ao, T Page 230{48
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59.

| 210
qﬁﬁ%ﬁgmﬁ%mmm9:4@<ﬁmqmwm
g

‘(A) 27:8 B) 3:2

€ 9.4 D) 4:9

1 the ratjo of areas of two cquilateral triangles is 9 : 4 thcn the

ratio of thejr Perimeters i is

- (A) 27:8

B) 3:2
© 9:4 D) 4:9

afe AABC qo ADEF § AB_BC_AC

151 ,
D5 =B DF_73‘1§PIAABca2n ADEF %

&S 1 I B
&) s5:7 (B) 25:49
© 49:25 (D) 125:343

AB BC _AC
If in AABC and ADEF, DE =G DI“=5 then the ratio of the

areas of AABC and ADEF is

A) 5:7 | (B)  25:49
(€ 49:25 (D) 125:343

AABC T APQRWﬁHﬁ%‘WﬁAD:«m PSRN LA 2P % wiges

%aznAD 65@#’:@ PS =523 @ W(AABC)

v (/.\PQR)
(A) 49:16 ' B) 25:16
(C) 36:49 - D)  81:64

H/S-24(M)/ 7204 poja]
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c similar triangles. 1f AD and PS are biscctors of

g ABC and APQR ar
/A and ZP respectively

area | AABC)

arca ( APOR) a

and AD = 6:5 cm, PS = 5.2 c¢m then

(A) 49 : 16 (B) 25: 16
C) 36:49 (D) 81:64
60. & amarg e 6 T TS S et ca kiUl
A) av3 (B) %ﬁ
a
g 2a3 O 7

If one side of an equilateral triangle is a then its height is

A) av3 ® V8
3 a
AC) 2a43 (D) B
61. 2-13113111311113...%
(n) o wE yp| ot wE
) ot wE o) ¥ @

2'13113111311113 ... 18
(A) a rational number (B) an irrational number
(D) none of these

(C) an intleger

Page 25 of 48
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T e s arafe g 1 e S FEn A a e
(A) i e B e deE
(C)  wFd g (D) ¥ & ®Ig A&l

The produyct of a rational number and an irrational number j
Which type of number ?

(A) A rationa] number (B) - An irrational number

(€) A natural number (D) None of these

63.  0-57 % wewaw wv 3

19 | @ 57
W 33 , | (B) 50
57 '

32

The sfmplest form of 0-57 is

w2 | ® <
© L o L
64. A2 140 =27 x5V x77 AR X+y-z=
N (B) 4
(C) 3 D) 1
g A

H/S-24(M)/72041 ~(80/80) | Page 26‘0}’4
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1[140=2"><5y§<'7z then x+y-2z= |

® 2 B) 4
o 3 o 1
5 (6’+ﬁ§_5-)—(3+~/_5_)+(1—4\/§)% |

a SemEer gy S
o e i
(6+.JT§§)—(3+J§)+(1—4J§).13 ‘. | |
() a rational number (B) an i rrational number
() notreal o ) none of these

6. 0-375% i;- &q | qmia‘:r%
@A) 2°x5° 4 2Px5
) 2°x5° | ‘o) 2°x 53

In iq’- form of 0-375, the form of gis

@A) 23x5° B 2°x5°
D) 2°x 53 |

© 22x5°
FoTo 105%1?11%3'—11“1@#@1 53 @ @l

67. < gEAadl &1 Ho HO 15 aUl

T 3
(A) 75 (B) 15
) 315 (D) 525
/ ]
. H/S'24(M)/72041'l“°/5°' Page 27 of 48




68.

&) 1365

‘ [210]
If one f
The HCpFp of two numbers is 15 and L.C. M is 105. If o O the

Ilumbers 1S S then the other number is

(&) 75 B) 15

€ 315 ' D) 525

Ir%"“’TQF'ﬁf{ma bq+rﬁb 143, q = 31amr—32‘€f?ﬁamtrm
-bhm.' :

() 1365 (B 1356

€ 1360 | D) 1350

If in division algorithm ¢ = bq+r b=43 q= 31 and r =
the value of a will be.

(B) 1356‘
© 1360 (D) 1350

q&qwmméﬁ%ﬁ@ﬁquwﬁméo
W& 2g+1 | (B)

2q _
© 2q+3 D 2g+s ; 2
If gis a pos1t1ve mteger which of the following is an even posmve
mteger ?
@& 2g+1 @) o
© 2q+3 D) 2q+5

H/3-24(M)/72041—(80/80) Page 28 of 48
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. [210]
E. Prtferfiaa # fomeepT cmeerd SR & & P

11 . 91
A — Come Z2el
B 700 B 32700
343 - M 15
B _15
( ) 23x53><73 25><32
Which of the following has terminating decimal expansion ?
11, ' 91
A 700 B 3100
343 | 15
C . (D
© 723 %53 x73 (D) 25 x 32
= ' . 2 p(y)
71. 3R ply) =(y+1) (¥3+2) (" +6) & g(y) =Y ~3y+1 g(y) !
T anm
A) 6 gB) 3
() 5 (D) 4 .
If p(y)=(y+1) (y3+2)(y4+6) and g(y) ;y2—3y+1 then the
degree of _;%—;-'is
A) 6 (B 3
© 5 @) 4

N7l (x+1) (x-1) =% -4 (B) (x+42=3x+4

2. D)  (2x%+4)=(5+x) (2x~3)

o

S —————

ppere—

H/S-24(M)/7204 1-(80/80) ' Page 29 of 48




73.

74.

‘-(C) 6

[210]
| . o i
Which of the following is a quadratic equation :
. e |
A) (x+1) (=1) =x2 453 B) (x+4)=3x+4
R @ (@)= (5 (2x-3)
= .

qﬁﬁmﬁg‘fﬁm x2 —5x+p 10 %H@WW 43‘13}}9 B

B) S
‘D) 8

If product of the roots of the quadratlc equatlon x? —5x+ p=10 is

=4, then the value of p is

A) 4 - (B) 5

‘ D) 8 _
?TR’(x—2),'pxz—;c—é.vaﬂ@‘ﬁmég‘@‘éh‘pwqm—ﬁﬁm
(A) 20 | | B 3.

© 1 ¢ ok D) 4

If (x-2)isa factor of P —x—6 then the 'v_ame of pis

A 2 . B s

© 1 - D) 4

T :
H/S-24(M)/72041 (awaml Page 30 of 48




J 1210

k%%&m%mﬁﬂmm‘x2+6.\;+k=0%H@mﬁ*@m
g 2

31

A 12 B 9
() 10 D) 6

For what value of X, roots of the quadratic equation x?+6x+k=0

are real and equal ?

A) 12 'B) 9
(C) 10 . (D) 6

o, e e L7 -2+ 2 -0 ¥ Tl A gl w0 A 2
(A) Srdigs @ IEAH _(B) drdias W& §AN
(C) TS T ©) T AT A

What is the nature of the roots of the Quadra;ic equation

4 2 . 3
S x*-2x+==07?

3 4
(A) Real and unequal (B) Real and equal
(C) Not real (D) None of these

- gfz feam g y2+3y—18=0'ﬂ@’1\a‘6%7ﬁmw%m

(A) 3 B -3
(C) © (D) S
If one root of the quadratic equation y?+3y-18=0 is - 6 then its

another root is
A) 3 B) -3
c) 6 (@) 5
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[210)

> qﬁ%m“‘ﬂmx ~8x+5 o%rﬁaﬁaﬁ'@?ﬁ“ “ ?ﬂma’"
(A) 44 B) 54
C) 74 D) 64

.. 2 -
If o ang B are the Troots of the quadratic equation x“-8x+5 =0
then the value of (2 +p2 is

(A) " 44 (B) 54

(C) 74 (D) 64
79.  Temm wrivey ax?-bx;-c=o,a¢o%liﬁ§ |
\;a() —b-_H[gz—\c}ac | ® bi‘[b;;Tm-
© "”iﬁm ) bi‘/ﬁ"

The roots of the quadratic equation ax? — py - ¢=0, a#0 are

A bbb —4ac - b Vb? +4ac

( _) 2a : 2a
_bi\/b2+4ac, (D) | bin2—4ac

(C) 2a ) - 2a .

80. qﬁx;gzﬁ:hwﬂwwu +2x+p 0 qul qx +qx+18 0O I T
mﬁg{aﬁ?ﬁ(q p) A g

® -4 s
© o ' | (D) 4
Fo s H/S-24(M)/7204 1-(80/80) | -

Page 32 of 48




y

[210]

ﬂ [x=21s8a common root of both the equations 2x%+2x+ p=0 and

qx2+qx+13=o then the value of (g-p) 18
N (B) -3
G D) 4

of aniat 3t 20, 17, 14, 11, 1 3591 Ug T A ?

°

@A) 82 (B) -82
©c 72 ‘ (D) -72
What is the 35th term of the A.P. 20, 17, 14, 11, ... ?
() 82 B) - 82
c 72 D) -72

8. a3 3, 8, 13, 18, - ,93'13‘1%«'@%%? |

@) 19 (B) 18
© 20 D) 16
How many terms are in A.P- 3,8, 13, 18, ..., 93 ?
a) 19 (B) " 18

C) 20 D) 16 |

g3 @Ei@ I 1,3,5,7, .. % T 30 ug} 1 AR

() 900 B) 990

(c) 890 (D) 800

The sum of first 30 terms of the AP. 1,3,5 7, ... 18
(A) 900 B) 990

(c) 890 (D) 800

rlT/S-24(M)/7204 1 -(IOIIO]I
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84,

83S.

' 86.

g (~2y3

If from a point B the length of perpendicular drawn tq X-
10 and the length of perpendicﬁjar drawn to Yy-axis is §

~2) 58 wquty i 2 -
&) v B e
4 Tt (D) =g
The point (~22,-2) lies in whien quadrant ?
(A)  Pirst (B)  Second
©)  Thirg (D) - Fourth
5l (5 cos 6 OV (0, 55in6) ¥ i 1 70 2
A) 10 B) s
(©) 30 - D) 25
The distance between the point (5 c
(A) 10 B). s
€ 30 . D) 25
. e ot g B seomm w ey
o Al T 5 9 Ay fog B %1 frdwiw &y
(&) (s510). B) (10,5)
(C) (10,10) - (D). (5,5)

co-ordinates of the point B are

(A)  (5,10)

© (10, 10)

B) (10,5

D) (5,5)

[210

@Wﬁaﬁlﬁm@y-wmaén&

axis is

then the

H/S-24(M)/72041-80/80
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89 ﬁ%ﬁ(l,—s)ﬂa‘m,—m%aﬁaﬁ@%. [2-10]
w23 | B) 3v2
o o D 6 |
The distance betweén the points ( 1,—3)and(4:‘6)i5
a) 2J3 | (15) 3J2
€ 9 (D) 6
88. y-amma'sﬁ@sﬁﬁ@i(s,—'z)aﬁt(—S;Q)QW%,W
(A) (o,'3)' : ‘ B) (-2,0) ‘
) (0,-2) D) (2,2)

The point on y-axis which is equidistant from the points ( S, — 2)
and (-3,2)is

A)  (0,3) . -B) (-2,0)
© (0,-2) O (2,2)
89. ABCanam%ﬁﬁsﬁﬁA(o,O),B(s,O),0(8,6.)@D(o,.6)
3 Q) a1 T Tl g
A) 12 R (Bj 10
C) 14 D) 16

ABCD is a rectangle whose vertices are A(0,0), B(8, 0),C(8,6)
and D (0, 6). Then one of the diagonals of rectangle is

a) 12 (B) 10
c 14 ‘ (D) 16
90, af(0,4),(0,0) (3,0)%@%%@%%'@&@%@
< aftufa 2 |
(A) 8 | (B) 10
(c) 12 - | (D) 15
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[210)

(0, 4), (0,0)and (3,0 ) are the vertices of a triangle then the
perimeter of the triangle is

(A) 8
) 12

91, Fretferfian i o agmg = 2 -

B) 10

(D) 15

(A) V3x?-5/2x+3 .(B) 3x?-4x+45

W x+2/x (D) éx3—3x2+2-
Which of the following is not a polynomial ?

(A) «/5;2—5\/5x+3 . (B) 3x2-4x+45
(C)  x+2/x D) +x*-3x+2

S

92. =G (3x% - Tx+2)(2x* +3x*-5x+2) HT U\ ¥

M 2 ' B 6

© 4 o D) 3

The degree of the polynomial (3x2 - 7x+-2)(2x4 +3x%-5x+2) is
(A) 2 ' B 6 |

c) 4 | -~ (D) 3

93, WL %% -13 % Y% @

(A) 13, -13 h (B) " 13, -J13
) Ji3, -Ji3 D) VI3, -13
H/S-24(M)/72041-(80/80) e e
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97.

98.

[210] -
Which of the following quadratic polynomials has  zeroes

3 1
S and —5?

(A) 10x2.+x+t'3' (B) 10x2+x—3

© 10%% - x+3 (D) 10x2-x-3

TR plx)=x%-3x-4 FPF oW A A %(MB} $THE
B
GV

€ -3

(B) 3
4p) 1
If o and B are the zeroes of the polynomial p(x)= x*-3x-4 then
the value of %(a.fB) is
@A) 4 - B 3

€ -3 - D) 1.

af agG p(x) B TH IEF 5A D p_(x)ﬁ@{[ﬂﬂ@fggﬁjn '

-

(A)  x-5 . ER (B) x+5
4o Lo (D) 1

x-95 4 xX+5

,
If one zero of the polynomial p(x) is 5 then one factor of p(x)is

&) x-5 (B) - x+5
' 1
1
(C) prpy- (D) xX+3S
—_—
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| (210 ]
19. afe p(x)=x4+2x§’-—17x2—4x+30 N g(x)=x2+2x-15 ¥ ¥

ﬁmm%a’immm@m
a) 4 | AB) 2

c 3 . (D) 1

If p(x)=x*+2x° —17x2 - 4x + 30 is divided by
q(x)= x% +2x —iS; then the degreg of the quotient is
a) 4 B) a
c) 3 | (D) 1

100. 3fE T8 (2 +5%x+8 % TG o W BE A o2 +p2 +20p amrrﬁg‘mr

(A) 25 | WBf 5
© 8 D 64
If « and p are the zeroes of the polynomial x? +5x+8 then the
value of a? + [32 +2af is
(A) 25 (B) 5

(c) 8 (D) 64

s o SR
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